LZREE

BRIRA 2% g B4 (2% | ERHE| B % =
TT154
BKEMET HPPE(EFZ Ot FZEE) L=500m $ 100 PN 58 290m# E%(5%0m)
$100(P) HPPE(E%) L=5.00m $ 100 X 6 27.5m#AE%(5%2.5m)
HiVP L=4.00m ¢ 100 X 1 1.5m#A e (5%0m)
PVZaA ok ¢ 100 {& 1
VEDEESIS ¢ 100 & 1
AHEUE (V) ¢ 100 {& 1
AHEBE P xV) ¢ 100 & 1
AHEUE (P) ¢ 100 {& 6
EFESF—X $100x ¢75 | @ 1
EFf2F—X @100 % ¢ 50 & 1
BRI —b BRY—b W=150S m 319.0
BKEMET HPPE(EFZ Ot K ZEE) L=500m ¢ 50 X 1 3.0m#E%(5%2.0m)
¢ 50(P)— ¢ 40(V) |HiVP (E %) L=4.00m ¢ 50 X 0 0.5m#R M ITR&LYFFA
HIVP(E®) L=4.00m ¢ 40 X 1 2m# % (5%2m)
AHEBUE (V) ¢ 40 x 45° {& 2
BEJaq ok $50% @40 & 1
BRI —b BRY—b W=150S m 55
BKEMET HPPE(EFZ Ot HZEE) L=500m @75 N 1 5m7fi % (5%0m)
d75(P)— p75(V)|HIVP (&) L=4.00m @75 X 1 1.5m# E%(5%2.5m)
AHEHRE (P) x (VEH# ¢ 75 % 45° {& 1
AHBIE (V) b 75%45° {& 1
VEDEESIS 75 & 1
BRI —b BRY—b W=150S m 6.5




LZREE

BRIRA 2% g B4 (2% | ERHE| B % =
TUHBET RUB—ARY I — LT F ¢ 100 = 1
$100(P) TR =E H=800 #H 1
TEURFET  |[RUR—RKRBEYIR —ILEFHF 75 = 1
¢ 75(P) TR =E H=800 #H 1
HUHHREL |FHEELDFH ¢ 50 = 1
@ 50(P)— ¢ 50(V) |HHa LtV yk(P) ¢ 50 & 1
HRLAVTIRV) ¢ 50 & 1
TR =E H=800 #H 1
HMREBRETL AR 675 2 2
#WHIEfH H=200 b 75 = 2
ANBISUCHEBERTEE 75 {& 2
ITSUTMFM 75 {& 4
THNRE H=800 #H 2
YRIILFERKERERVAER) $100x ¢ 25 & 1 a7 —{kE
BKYET ALAHF ¢ 25 & 1
BRIV K HiVP  L=4.00m ¢ 25 X 1 1.0m X 144
G100x ¢25 Tk 025 & 2
HiVA b ¢ 25 {& 1
YRIILHFERKERERVAER) ¢$100x ¢ 20 & 10 a7 —{kE
BKYET ALAHF $20 & 10
BRIV K HiVP  L=4.00m ¢ 20 X 3 1.0m X 1044
G100x $20 Tk 620 & 20
HiVA b ¢ 20 {& 10
AR —k BARS—k W=150S m 11.0 1.0m X 114=11m




FHE

HRIRA E2E R Hir| Z9%E | £EH=E R g &
MEFEI15K
BKEMBZET RYIFLUEHHZT $ 100 m 3175
¢ 100(P) BEEEEZLERSRT ¢ 100 m 15
RUIFLUETMT $ 100 | 8
RUIFLUERFT @EES) | ¢100 1O#8F | &HAF 58
RUIFLUOEMFI (REES) | ©100 20#F | & 2
ANZHIBFET(P) 100 | 14 8+6
AAZAIHBFI(V) ¢ 100 | 6 145
EHRI—b BRI —k m 319.0
BKEMBZET RYIFLUEHHRT ¢ 50 m 30
¢ 50(P)— p40(V) |[FEEIBILE=JLEMBRT $50 m 05
BEEEEZLERSRT ¢ 40 m 2.0
RUIFLUOEMFI (REES) ¢50 1OMF | &HFr 1
RUIFLUEYET ¢ 50 O 1
ANZHILBFT d50LLT O 6
EHRI—k RS —b m 55
BKEMEZL RUIFLUERERT 75 m 5.0
$75(P)— 75 (V)| EEIBILEZ L EMEEK 75 m 15
RUIFLUELMT 75 m] 1
RIIFLUBRFT @EES) | 6150 1O#8F | & 1
AN=HIILBFI(P) o75 O 1
AHZHILFET(V) 75 | 5
BRI — BRS—k m 6.5
AKEER BKEERT HEKERE A 0.166 319m/2,0008=0.166 0




FHE

HRIRA E2E R Hir| Z9%E | £EH=E R g &
MEFEI15K
TUHHET TUFRET $ 100 = 1
@ 100(P) AAN=HAIBFI(P) ¢ 100 mi 2
RERET H=800 #H 1
SBEHE L3¢ 1
HyanET |[tyssnET 75 H® 1
¢ 75(P) ANZHIBFT(P) 075 O 2
RERETL H=800 #H 1
SBEHE L3¢ 1
HyanET |[HAyssnET $50 H® 1
@ 50(P)— ¢ 50(V) |SE/NOAFEERLAAES ¢ 50 m] 2
RUIFLUEHET $50 | 2
REZRETL H=800 #H 1
BERE L3¢ 1
HRRERET HRIRERET ¢ 75 = 2
ANZHILEET (P) ¢ 100 O 4
ISUTHFT 75 O 2
REFRET H=800 #8 2
BERE 1& 2
kBT YRILHKREBRETL KRUER $100% ¢ 25 & 1 114
HEIL KR MERLAAT 25 a 1
®100x ¢ 25 E-—ILEMET 25 m 1.0
TSH#EFET 25 | 6
KBTI YRILDKREFET RUER $100x ¢ 20 {& 10 1044
YRV KR MERLAAT 20 O 10
$100% 20 E-—ILEMET ¢ 20 m 10.0
TSH#EFET 20 | 60
FHHRI— W=150S m 11.0




T I H=E X

% R B | 4 B B 2 HEtHE
TEFETI154
BLKEMZRT H=800 | BFE(® 060 m x 0985 m X 3130 m = 184.98 m3
HEMERYET H=2000 | BFEIQ@ 200 m X 1960 m X 40 m = 15.68 m3
&% = 20066 m3 200
_ H=800 | MRE®D 060 m X 0325 m X 3130 m = 61.04 m3
*%WEE‘LI H=2000 | BFE® 060 m X 0325 m X 40 m = 0.78 m3
GREFv) |
&% = 61.82 m3 60
_ H=800 | MRE®D 060 m X 0490 m X 3130 m = 9202 m3
HMHERLT H=2000 | BFEQ 200 m X 1465 m X 40 m = 1172 m3
(EL) L
&% = 103.74 m3 100
R MET = 8539 m3 90
TREERET t=10cm | RC-30 060 m X 3190 m = 19140 m2 191
TERET t=8cm M-30 060 m X 3190 m = 19140 m2 191
{RAsEEZET t=3cm AR 060 m X 3190 m = 191.40 m2 191
AEIBAsTHET t=4cm R 080 m x 3190 m = 25520 m2 255
AsSHIERRYIBT T t=4cm 319m x 4 = 12760 m 1276
AsEEEhREERE T t=4cm 080 m X 3190 m = 25520 m2 255
{RAsEHSE R BE R T t=3cm 060 m x 3190 m = 191.40 m2 191
AsSHiEELERE- LS T 255 X 0.04+191 X 0.03 = 1595 m3 16
REET(ESMER) H=2.0m 600 m X 200 &HFT = 1200 m 12
HMAKEMRT e ERYE T H=800 | Asffis 060 m X 0985 m X 1M10 m = 650 m3 7
N=114 HHIERLT FEFYT 060 m x 0290 m x M0 m = 191 m3 2
HHIERELT H=800 060 m x 0490 m X M0 m = 323 m3 3
KBTI = 363 m3 4
TREERET t=10cm | RC-30 060 m 110 m = 6.60 m2 6
TERET t=8cm M-30 060 m 110 m = 6.60 m2 6
KEIBAsTHET t=4cm =R 080 m X 11.0 m = 8.80 m2 8
AsEHERRUIET T t=4cm = 200 m 20
AsTHEERR R T t=4cm 080 m X 110 m = 880 m2 8
{RAsTHZERBER T t=3cm 060 m x 110 m = 6.60 m2 6
AsTHEFER - LT 8 % 0.04+6 X 0.03 = 055 m3 0.6




$ 100 HiVP fd K & ) & F
UEE (m) DIHANS
%% (m) Yl T
=] fores s 4R e
x5 B M ERES ERE z i} I
=}
Z.-1 z.-2 Z.-3 Z.—4 2.5 (OO (1)
1 HiVvP 100 5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4 1
B
2 HiVP
3
4 = 100
5
6 HhE | 5.000
7
8
9
10
i 5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4
5. 000 1. 000 1. 000 1. 000 1. 000 4. 000 1. 000 4. 000




¢ 100 HPPE fd /K & &) & &
WEE  (m) DINF
& (m) I 1.
=] fores s 4R e
&5 B HE B R ERE z . i
=}
Z.-1 z.-2 Z.-3 Z.—4 2.5 (OO (1)
1 HPPE 100 5. 000 1. 500 2. 000 3. 500 1. 500 2 1
(=g
2 HPPE 100 5. 000 4. 000 1. 000 5. 000 1 HPPE
3 HPPE 100 5. 000 5. 000 5. 000
4 HPPE 100 5. 000 4. 000 1. 000 5. 000 1 Rk = 100
5 HPPE 100 5. 000 3. 500 1. 000 0. 500 5. 000 2
6 HPPE 100 5. 000 2. 000 2. 000 4. 000 1. 000 2 HshE |  5.000
7
8
9
10
B 30. 000 20. 000 7. 000 0. 500 27.500 2.500 8
30. 000 20. 000 7. 000 0. 500 27.500 2. 500 8. 000




